Y (d) Noneofthese
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(@) arqeft (a) wemaeft

o (7) ey g (7) vl
i 1e Alfowed : Three Hours

- When both lower and upper limit are considered, such
1 "‘ . Maximum Marks : 55 classes are called:

Prin ]plas of Statistics

r (e (8) Exclusive {b) Inclusive
52 ; §| (c) Midvalue {d) Cumulative
uestions are compuisory V) o B T ST & e AR @ e
. =vE - ‘3’ f Section - A &Y o & for:
I.L h Wmmbjective Type Questions (1) gxrore wrex (a) oI wTem
¥ - 1% 15 =15 (m) Wl ez (%) wfeqyest

Numbers are put ascending and descending order from
the following calculate

(8) Harmonic mean {b} Geometric mean

{c) Weighted mean (d) Median

TR e {5 wrelr & s agi % O BT
g &

,@ = (7) affdae
,. C] (2) & ol

h!ﬂ.N"mofM wb;;
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eIl 3% ()smﬁ%aETﬂ
bésis the value of mode is calculated:
istogram (b) Ogivecurve
’(e;) Frequencycurve (d) Frequency polygon

) @ W ¥ Ry qEwi = A A

.v*r"'

(x) fRR amar A (7) bR Yaaie

(m) aafdR (3) ured

Method of construction of index number of single
variable is;

(@) Fixed base index number
{p) Fisherindex

(c) Laspeyre

(dy Paasche

@ - ‘g’ Section-B
WY IAIA U9/ Short Answer Type Questions
r: | 5% 5=25

Y ofer weAl & SR ST URie We 5 o @7 B

Sitempt all five question. Each question carries 5 marks.

[ wpfer 6t fader o

nature of statistics.
@ | OR .

wT

Yasger i aﬁd deseendfng order.
wl OR

il ﬁl’mm Fifre:
fcilate mean from the following data:
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St.No. Value
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' h of the following can not be calculated by

ﬁwhiml method:

2 "{a) Mean (b) median
(Tle T fe) Mode (d) Quartiles
Foovi) R E @i wrE o emanfa A
be (@) (a) wamq fomem
P () aqefs e (7) 300 Q@ @iE

The measure based on all the values of variable is:

- {a) Range (b} Standard deviation
(c} Quartiledeviation  (d) Noneof these

Vi) 7R o Ry i B W 2

&

(a1) 21 (@) 12
(7) 3 (2) &% Q =g 7
- The limits of Bowley's coefficient of skewness are:

..“ 4 (b) 2
: wﬁ (d) Noneofthese
mamma

('} T

L

',P the scientific method to find out correlation
‘ :-coefﬁclem
: {a} KarlPearson (b) Spearman
{c) Galton  (d) Noneofthese
¥ ox) @ e & dra wawary sgen i
' (o) ot wgwsw (3) Aol wEwEy
(@) siifdrs g (3) TF VeTraY

The correlation between two variables is said to be:
{a) Simplecorrelation (b) Muitiple correlation
(c) Partialcorrelation  {d} Total correlation

D i) W s e e i i o e

fasar:
(=) Ryl () W= wif Mrees
5 “! () el (7) whir Ber

A » i statistics, the word "Regression” was first used by:

a} Spearman {b} Sir Francis Galton

S e . #ay F!sarson {(dy Irving fisher
(u) mm
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I‘i.ong Answer Type Questions
5x9 =45

et sigal % weR g wEE Hed 9 3 BT &

empt all five question. Each gquestion carries 9 marks.

07 wiferd s qun §7 v iR ST @
FTST IS WAG 9O W arel DRINE SOl H
T Hifow

----- , A What is statistical Investigation? Describe the preliminary
steps you would take in planning a statistical investigation.

H4qi [ OR

“wifeadm wfdgas” T £7 witeadn ufggos &
ﬁmmmmm;

-- ,‘ ~ﬂ' ?h' atis "Statistical sampling"? Describe the various methods
At sﬂﬁsﬁwl sampling.
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ﬁmm&m fifom—
. Harmonlc mean from the followmg_d&ta
_unement(qa) 5 (10 |18 |20 ]| 25

,-Fr_equency(sn'qfx‘i) 2 |s {12 7| 3]

7 Q.. v ST < ST R e Ui <Y T BT

Calculate standard deviation and coefficient of varation from

the following data:
Class (ad) | Frequency (3ngfT)
0-10 12
10-20 18
20-30 35
30-40 42
A0-50 S0
50-50 45
€0-70 20
70-80 8
st¥dr { OR

3 ey Wit § qied @1 Ay pne e Hifag

From the following table, calculate Bowley's co-efficient of

skewness:
x f
100-200 45
- 1 200-300 88
-1 300-400 146
Py __ 2% .,
= onlineBU.CO

o7 [iea | 69 | 70 [ e& o1 |
7156 [ 122 | 107 | 136 | 125 | 108

. - &@9ar / OR
@wi 100 gemRfaf F atﬂmm‘\?nfﬂlaés
) ¥ Rl oo & e W 5 T
sreferrE UG
CLmeE 55 80
:m—ﬁva-r 9 12

e TOE r=0.8
Wi 7owmaﬂ=}mﬁqﬂeﬂaﬁ$aﬁm#
o |

Ildwlng results were obtained from the data pertaining
S obtained by 100 students in Economtcs and

\J - .,‘
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“Economics Mathematics
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b
)
P - " Calculate Fisher's Ideal Index Nurnber from the following data.

-5 Articies Base year 2004 Currentyear 2008
N Price (Rs.) | Quantity | Price (Rs ) | Quantity
x 0 20 80 30
30 50 20 10
‘ z 50 30 40 60
o | OR

e & favg Yl weei @ wgca wvEtEyl Swes fafim
i aitv & i@ A 2

xpl the impgrtance of graphic presentation of statistics

areits various advantages and defects,
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